Que 8:

For which of the following values of m, is the area of the region
boundcd by the curve y =x — x* and the linc y = mx cquals 9/2?
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(a) -4 (b) -2 (c) 2 (d)4
solution:
(b, d)
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line, it m < 1
hB 0 2
Qo\“' line, if m = 1
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The given curve is y =x x* and y = mx

The two curves meet at
mix = x— x2 Of x2 =x(1-m), - x=0,1-m

The region bounded by curves
= J‘(yl— Vo )dx = -[(x — x* — mx)dx
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Clearlym<1orm>1, butm# 1
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or (l-m)y> =27=1-m=-3, .. m=-2
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But if m >1 then 1- m 1s — 1ve, then I
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(l—m)3 =27=1l-m=-3,or l-m=-3,.. m=4.



